PLANETARY GEAR BOX

ZB/ZEZ 7
SBEETERIZEL

FRAREE A

ZD MOTOR



ZBERFURLE
/B SERIES GEAR BOX

M iR E Sectional Drawing

@ #uHH%H Output shaft

@ jHET Oil seal

@ HiH4HAETiHA Output shaft front bearing
@ 1TE%L Planetary gear

® ABEES Solar wheel

® i#EHHE Full needle bearing

@ Bz Front cover

iSHAM/S M7 Output shaft rear bearing
®© i Oil seal

® BX$ES Coupling

@ BHEFR Lock ring

P03

@ 52 Rear cover

B =55 . HYEHRIRIEAB Type And Model Number

ZBIEE#]|, ZB Reducers

‘ RRREBH Servo Motor

090 ZB 20 ()

(S1) - 750 T1 [

P 2 ® @ ® ® @ ®

@  RIENAEES: 090 E{RIIP04 Gear head frame size: 090, (P04)
@  ENRFIRS: 8 Gear head series code: ZB
@ EpELk: 20 BRIP4 Gear Ratio: Single Stage 20, (P04)
@ ¥EE BfkIPos Amount of backlash, (P04)
TERIP2(EER) FBEEIP SREEEIP0 Standard type P2 (Omission), precision P1, high precision PO
TR AR HHER + 5% A9E Precision (The load of output shaft is+5% of allowable output torque)
® N Input shaft type
S1: TSI (BR) S1: Locking with locking ring (Omission)
(T EAEREERESER | (2D FERNER) (Regardless whether the motor with keyway can use it. But “D” cut can't use)
S2: TSR E (M NI 5E) S2: Locking with keyway (Input shaft with key)
A: EfhiEERS (B S A A TERR) A: Other type (Please contact with us)
©® ERARDIATIRW) Applicable servo motor power (W)
@ (EREATRKEFR(P11~P12) Manufacturer name of servo motor (P11~P12)
® (ARDIAES Model of servo motor




LG
PRODUCT SPECIFICATIONS

I REE 8% Reducer Performance Data

& RE VERELRd
Specifications Node Number | Redustion Ratio | 080ZB | 0B0(A)ZB | 090ZB | 090(A)ZB | 11528 14278 18028 220ZB
3 55 - 130 = 208 342 588 1140
50 - 140 - 290 542 1050 1700
5 60 = 160 = 330 650 1200 2000
: 6 55 - 150 - 310 600 1100 1900
7 50 - 140 - 300 550 1100 1800
8 45 - 120 - 260 500 1000 1600
9 40 5 100 = 230 450 900 1500
10 40 - 100 - 230 450 900 1500
15 55 55 130 130 208 342 588 1140
20 50 50 140 140 290 542 1050 1700
BERH IR T, Nm 25 60 60 160 160 330 650 1200 2000
30 55 55 150 150 310 600 1100 1900
35 50 50 140 140 300 550 1100 1800
40 45 45 120 120 260 500 1000 1600
2 45 40 40 100 100 230 450 900 1500
50 60 60 160 160 330 650 1200 2000
60 55 55 150 150 310 600 1100 1900
70 50 50 140 140 300 550 1100 1800
80 45 45 120 120 260 500 1000 1600
90 40 40 100 100 230 450 900 1500
— 100 40 40 100 100 230 450 900 1500
P04 SEHHAE Ty Nm 1.2 3~100 SMEEE R 048
BIEBNFRIE n,, rpm 1,2 3~100 5000 5000 4000 4000 4000 3000 3000 2000
BABINES®E N, pm 1,2 3~100 10000 10000 8000 8000 8000 6000 6000 4000
o . 1 3~10 - = = - <1 <1 <1 <1
EIBEERZBE PO | arcmin 2 15~100 = - = - <3 <3 <3 <3
P . 1 3~10 <3 - <3 - <3 <3 <3 <3
FEEEHRIRE P1 arcmin 2 15-100 - <5 <5 <5 <5 <5 <5 <5
S . 1 3~10 <5 = <5 = <5 <5 <5 <5
FRAEERABES P2 arcmin 2 15~100 - <7 <7 <7 <1 <1 <7 <7
RN Nm/arcmin 1,2 3~100 7 7 14 14 25 50 145 225
BUREA F, N 1,2 3~100 1530 1530 3250 3250 6700 9400 14500 50000
YA F,y, N 1,2 3~100 765 765 1625 1625 3350 4700 7250 25000
ERE® hr 1,2 3~100 20000*
. o 1 3~10 297%
BE N % 2 15~100 ‘ ‘ ‘ 29‘4% ‘ ‘ ‘
= 1 3~10 1.3 5 37 = 7.8 14.5 29 48
i Ko 2 15~100 15 | 19 | 41 | 53 | 9 | 175 | 33 | 60
ERERE °C 1,2 3~100 -10°C~+90°C
s 1,2 3~100 ERkiEE R
PP 1,2 3~100 1P65
ZEHH 1,2 3~100 FEARA
=i,
?ff%gﬁﬁ%]ﬁﬁ) dB(A) 1,2 3~100 <58 ‘ <60 ‘ <60 ‘ <63 ‘ <63 ‘ <65 ‘ <67 ‘ <70
W RGELES RN 1R & Moment Of Inertia Of The Reducer
& RE BIELL
Specifications Node Number | Redustion Ratio | 080ZB | 0BO(A)ZB | 090ZB | 090(A)ZB | 11528 142ZB 180ZB 220ZB
3 0.16 = 0.61 - 3.25 9.21 28.98 69.61
4 0.14 - 0.48 - 2.74 7.54 23.67 54.37
5 0.13 - 0.47 - 2.71 7.42 23.29 53.27
: 6 0.13 - 0.45 - 2.65 1.25 22.75 51.72
7 0.13 5 0.45 = 2.62 7.14 22.48 50.97
8 0.13 - 0.44 - 2.58 7.07 22.59 50.84
9 0.13 = 0.44 = 2.57 7.04 22.53 50.63
10 0.13 - 0.44 - 257 7.03 22.51 50.56
15 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
20 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
BRE J, Kg-cm’ 25 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
30 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
35 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
40 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
50 0.03 0.13 0.13 0.44 0.44 2.57 7.03 2251
60 0.03 0.13 0.13 0.44 0.44 257 7.03 2251
70 0.03 0.13 0.13 0.44 0.44 2.57 7.03 2251
80 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
90 0.03 0.13 0.13 0.44 0.44 2.57 7.03 2251
100 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51

TR (i=N,/N,,)
“ESIEE: , (EF%A5/910000hrs

2B A DESIAET,,=60% of T,y 3 B 00rpmAY , (EFI TR ORI,



R (8%, /miELL i=3~10)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B R <F'E& Dimensional Drawing

g Output 9 i Input
c8 L8 12
L7 L3 er
1 m L4
-5 _ 1 L6
8| 8 2|
| ™ ey
sl & 855
c6 _[]
C4
2
S D53%(depth)L9
i
H1
Il R~F 3 Dimensional Table [ fZUnit: mm]
R}Size 060ZB 09028 11528 14278 1808 2207B
D1 70 100 130 165 215 250
D2 55 6.6 9 1 13 17
D3 16 22 32 40 55 75
D4 s 50 80 110 130 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 65.5 78 101.5 119.5 154 163.5
L9 125 19 28 36 42 42
c1 70 100 130 165 215 235
c2 M5x0.8P M6 1P M8x1.25P M10x1.5P M12x1.75P M12x1.75P
c3 *<14/<16 <19/<24 <32 <35/<38 <42/<48 <55
ca 35 405 51 60 85 116
€5 50 80 110 130 180 200
c6 8 4 5 6 6 6
c7 60 90 115 142 190 220
C8 19.5 17.5 20 22.5 29 63
c9 122 1435 186.5 239 288 364.5
B1 1o 5 6 10 12 16 20
H1 18 245 35 43 59 79.5

*060ZB 5,10 jHIRELIRHCI< 167 1%,

P05



R~ (B4, miELL i=15~100)
DIMENSIONS (DOUBLR, REDUCTION RATIO i=15~100)

B R <FE& Dimensional Drawing
co

5 Output e s 02 BN Input
Lt g, 13
0er
L4
i L5 L6 9 5
28 28 )
88 s 6 Q
- | [ | S $
cé H 4-C2 o1
c4 1
c9 060AZB/090AZB
C8 L8 L2
13 mG
% D53%(depth)L9 i (T o, X\ -
e garl — s
H1 ger] 8|5 Q
—— [©
P06 I | 0 ‘e) /%
C6_H o : Vi) ®Ci
Il R <J % Dimensional Table [ ZUnit: mm]
RISize 060AZB 0908 090AZB 11528 14228 18028 22028
D1 70 100 130 165 215 250
D2 5.5 6.6 9 11 13 17
D31 16 22 32 40 55 75
D4 50 80 110 130 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 202
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
13 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 1025 116 126 143 169.5 2075 246
Lo 1255 19 28 36 02 7
cl 70 70 100 100 130 165 215
C2 M5x0.8P M5x0.8P M6x 1P M6x1P M8x1.25P M10x1.5P M12x1.75P
c3 <14/<16 <14/<15875/<16|  <19/<24 <19/<24 <32 <35/<38 <42/<48
c4 35 35 405 40 50 60 85
C5a 50 50 80 80 110 130 180
) 8 8 4 4 5 6 6
7 60 60 90 90 115 142 190
C8 19.5 19.5 17.5 175 12.5 225 29
co 159 1835 1915 2255 2835 335 400
Bl 5 6 10 12 16 20
H1 18 25 35 3 59 795




ZEZRFURLE
ZE SERIES GEAR BOX

M Z)#RE Sectional Drawing

B E5S . YEEHRIRIEAB Type And Model Number

@ HiH%d Output shaft
@ iHES Oil seal
® HyHH4hBT4HE Output shaft front bearing
@ 17E% Planetary gear
® K% Solar wheel
® iFEHiHE Full needle bearing
@ Hi35 Front cover
® kS 4H7& Output shaft rear bearing
© iHES Oil seal
@ EX4hES Coupling
@ PHEEIR Lock ring
© J555 Rear cover

ZEIF3EEH, ZE Reducers

| TBREBAL Servo Motor

090 ZE 20 () (S1)
@@@@@

S 750 T
® @ ®

TRIEAIEES: 090 E{ANIP08

Gear head frame size: 090, (P08)

\2) IENRFI S ZE

Gear head series code: ZE

@ EEEL: 20 B{RIIPO8

Gear Ratio: Single Stage 20, (P08)

@ K5 BfRIIP08
TERIP2(ERE) FEEELPT SAEEELPO
B R ABITR LR +5%EH9E

Amount of backlash, (P08)
Standard type P2 (Omission), precision P1, high precision PO
Precision (The load of output shaft is +5% of allowable output torque)

®  BNHEE
S1: TEHIEASIR ()
(TICBARGEREEAER (B0 FENER)
S2: TR E SR (MAHTIE)
A: BftiERCRR (5 S AN EIEER)

Input shaft type
S1: Locking with locking ring (Omission)
(Regardless whether the motor with keyway can use it. But “D” cut can't use)
S2: Locking with keyway (Input shaft with key)
A: Other type (Please contact with us)

EFRRARZIATIEW)

Applicable servo motor power (W)

{RRRENET ZREFR(P11~P12)

Manufacturer name of servo motor (P11~P12)

@ 8

EAIRDIAES

Model of servo motor




= ol
PRODUCT SPECIFICATIONS

B REMN T EEEEL Reducer Performance Data

& RE IRIREL
Specifications Node Number Reduction Ratio iz Ll (228 Jzs Al .
3 55 130 208 342 588 1140
50 140 290 542 1050 1700
5 60 160 330 650 1200 2000
1 6 55 150 310 600 1100 1900
7 50 140 300 550 1100 1800
8 45 120 260 500 1000 1600
9 40 100 230 450 900 1500
10 40 100 230 450 900 1500
15 55 130 208 342 588 1140
20 50 140 290 542 1050 1700
BERHIIFE T, Nm 25 60 160 330 650 1200 2000
30 55 150 310 600 1100 1900
35 50 140 300 550 1100 1800
40 45 120 260 500 1000 1600
2 45 40 100 230 450 900 1500
50 60 160 330 650 1200 2000
60 55 150 310 600 1100 1900
70 50 140 300 550 1100 1800
80 45 120 260 500 1000 1600
90 40 100 230 450 900 1500
100 40 100 230 450 900 1500
SElEET,, Nm 1,2 3~100 fEEERIE R
BUERNFLIE n,, rpm 1,2 3~100 5000 4000 4000 3000 3000 3000
BABINEESE N, rpm 1,2 3~100 10000 8000 8000 6000 6000 4000
— ) 1 3~10 <8 <8 <8 <8 <8 <8
IR aremin 2 15~100 <12 <12 <12 <12 <12 <12
FREERIME Nmy/arcmin 1,2 3~100 7 14 25 50 145 225
NFEES Fy N 1,2 3~100 1377 2985 6100 8460 13050 8700
BYFHEA F N 1,2 3~100 765 1625 3350 4700 7250 18000
FEED hr 1,2 3~100 20000*
. o 1 3~10 >97%
BE N % 2 15100 ‘ ‘ 2‘94% ‘ ‘

- 1 3~10 1.4 33 6.9 13 31 53
BE ko 2 15~100 16 | 41 | 81 | 17| 3B | 66
FRRE °C 1,2 3~100 -10°C~+90°C
DR 1,2 3~100 SRk HAE
FHIPEER 1,2 3~100 IP65
TELA 1.2 3~100 [E5=VaIL

2=z,
?ﬁ%j‘%ﬁ%ﬁ%‘ﬁﬁ ) dB(A) 1,2 3~100 <58 ‘ <60 ‘ <63 ‘ <65 ‘ <67 ‘ <70
B FENEE TR E Moment Of Inertia Of The Reducer
& RE IRIREL
Specifications Node Number Reduction Ratio e vz A Uzt Al e
3 0.16 0.61 3.25 9.21 28.98 69.61
0.14 0.48 2.74 7.54 23.67 54.37
5 0.13 0.47 2.1 7.42 23.29 53.27
1 6 0.13 0.45 2.65 7.25 22.75 51.72
7 0.13 0.45 2.62 7.4 22.48 50.97
8 0.13 0.44 2.58 7.07 22.59 50.84
9 0.13 0.44 257 7.04 22.53 50.63
10 0.13 0.44 2.57 7.03 2251 50.56
15 0.03 0.13 0.47 2.71 7.42 23.29
20 0.03 0.13 0.47 2.71 7.42 23.29
BRE J, Kg-cm” 25 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.13 0.47 2.1 7.42 23.29
40 0.03 0.13 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.13 0.44 2.57 7.03 2251
60 0.03 0.13 0.44 2.57 7.03 22.51
70 0.03 0.13 0.44 2.57 7.03 2251
80 0.03 0.13 0.44 257 7.03 2251
90 0.03 0.13 0.44 2.57 7.03 2251
100 0.03 0.13 0.44 257 7.03 22.51
TIREEREL(i=N,/N,,) 2 AR IMESIFET ,=60% of T,y 3R 00rpmAT , (ERFHEBMPOME.

MELIEEE |, B /910000hrs



R~ (B84, miiELL i=3~10)

DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B R < E& Dimensional Drawing

i Output I Input
co
L8 L2
D23%(depth)L7 L1 L3
4
5 L6
sl Tere oo
22 H—He= HEEE
(SIS ©1 6|
C6
ca
%‘ -
= D5IZR(depth)L9
ik
|
H1
[l R <} % Dimensional Table [ &2Unit: mm]
R Size 070ZE 090ZE 120ZE 1562E 2057E 2357E
D1 62 80 108 140 184 210
D2 M5x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P M16x2P
D31 16 2 32 40 55 75
D4 52 68 90 120 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 70 104 130 162 205 260
D7 70 90 120 155 205 235
L 315 36 50 ; 70
L2 36 46 70 97 100 126
13 6 8 17 15 15 18
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L 2 3 5 4 6 7
] 10 12 16 20 2 28
) 66.5 80 96.5 1195 154 175.5
L9 12.5 19 28 36 42 42
c1 70 100 130 165 215 235
2 M5 0.8P MBx 1P M8 x1.25P M10x1.5P M12x1.75P M12x1.75P
c3 “<14/<16 <19/<24 <32 <35/<38 <42/<48 <55
c4 35 405 51 60 85 116
Che 50 80 110 130 180 200
c6 8 4 5 6 6 6
c7 60 90 115 142 190 220
c8 19.5 17.5 20 225 29 63
co 17 1435 186.5 239 288 3645
Bl 5 6 10 12 16 20
H1 18 245 35 03 59 795

*070ZE 5,10 JRERECIRHC3 <1671,




R (F 4%, /&L i=15~100)
DIMENSIONS (DOUBLR, REDUCTION RATIO i=15~100)

B R < B Dimensional Drawing

it Output I Input
co
cs Ls L2
D2 (depth)L7 L1 L3
e
I— Y
\‘ LL54 L6 [0 \%
28 EEEE D)
88 5138 &%
&)
— ~
ce 42 et
ca
[=1]
= D53(depth)L9
i
H1
[l R~ % Dimensional Table [ ZUnit: mm]
R<ISize 090ZE 120ZE 1552E 2052E 2352E
D1 80 108 140 184 210
D2 MG x 1P M8 x1.25P M10x1.5P M12x1.75P M16x2P
D31 22 32 40 55 75
D4 68 90 120 160 180
D5 M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 104 130 162 205 260
07 90 120 155 205 235
L 315 36 50 - 70
L2 46 70 97 100 126
13 8 17 15 15 18
L4 36 51 79 82 105
L5 32 40 63 70 %0
L6 3 5 5 6 7
T 12 16 20 22 28
Ls 118 138 169.5 2075 246
Lo 19 28 36 0 2
cl 70 100 130 165 215
2 M5x0.8P M6x 1P M8 x1.25P M10x1.5P M12x1.75P
c3 <14/<15.875/<16 <19/<24 <32 <35/<38 <42/<48
c4 35 405 50 60 85
C5 o 50 80 110 130 180
c6 8 4 5 6 6
c7 60 90 115 142 190
c8 195 175 125 225 29
) 183.5 2255 2835 335 409
Bl 6 10 12 16 20
H1 25 35 3 59 79.5




DAy mER (BMANEER3,000RPMES )
MOTOR MATCHING TABLE (WHEN INPUT SPEED IS 3,000RPM)

M 33 Matching Table
£ R =]l IL3ATA=R Motor Power (W)
Motor Manufacturer Motor Series 50W 100W ‘ 200W ‘ 400W 750W
MSM T
MSMA T
HATEREEFm () MSMD m
Panasonic MUMA FRAESD Out of standard | FES Out of standard T =
MBMK T FRAESN Out of standard m 9|
MUMS S Out of standard ©)
SGM T2 2
SGMAH 12 >
(k1321 A, SGMAS Z S
Yaskawa electric SJME Fo335R No subject T2 E
SGMJV 3 C.Z)
SGMAV T3 -
HC-KF 13 >
HC-KFS T =
HC-MF T3 m
. HC-MFS T3
ME:;?TJ\}VETT)HC HA-ME & P
HC-PQ 3 Foxt5: No subject
HC-KQ T3 Fo335: No subject
HF-KP T3
HF-MP T3
R88M-U T2
RRHE A (HE) R88M-W T2
Omrom R7M-A T2
R7IM-Z T2
EEBHNE I GYsx T2
Fuji electric systems
WA () P30B T3 T2
Sanyo denki a1 T3 FRAEESD Out of standard
(k)5 E R Keyence MV T3 FEESD Out of standard
VLBSV-ZX FRAESN Out of standard 3
Tzﬁ?ﬂime VLBSV-ZAX FRAES Out of standard 13
VLBSVT FEESL Out of standard T3 FEESR Out of standard
S| 1ML TBL-3 T3 FoX$5k No subject
Tamagawa seiki TBL-illx 3 FRAEESM Out of standard
NA50 T
Eﬂiﬁ‘f’ NATO0X T3 Fex9%2 No subject
NABO3 3 FREESD Out of standard
(H)=BH TSX T3 FRAESD Out of standard
Sanmei SSX 3 FR/EESM Out of standard
(BRI BZFHERS
Hitachi industrial ADMA T3 FREESR Out of standard
equipment systems
=R
MITEIE\J/ SA3 T

ENIREHHTRIAEN | REH RSN DAENEERITE.

Note1) If an oil-seal is not present and the size is different, attachment of the oil-seal may correspond to special order, in some cases.

E2) SRk, AR B RNT S,

Note2) If the motor shaft is of D-cut and taper type, it corresponds to a special order.

ENEDIATNE (IERRPHXIEIE ) SHIEES | BB ESARHEER , FFENE OB SESARDASIFHED , Bt , FEER.
Note3) Note that thrust power arsing out of instantaneous max, output torque bu the combination of motor capactith (motor of the motor series table) and reduction ratio may exceed
permissible thrust power of the servo motor.

TOREINERRERFENT R, SRANFS | BRINSAATEKER,

Note4) Out-of-standard may correspond to a special order in some cases, For details, contact us.



DAy MR (BMANEER3,000RPMES )
MOTOR MATCHING TABLE (WHEN INPUT SPEED IS 3,000RPM)

M 33 Matching Table
TR =] ILATHER Motor Power (W)
Motor Manufacturer Motor Series 1000w | 1500w | 2000w | 2500w | 3000w | 3500w | 4000w [ 4500w | 5000w
AT LK) MSM m
Panasonic MSMA m

SGMS T2 Fexd5zNo subject T2 FoXF5:No subject T2 FeXd5:No subject T2
g (ﬁ)&d I l EE*J-L SGMSH T2 Fox$52No subject T2 Fo3F5:No subject T2 Fo3F5:No subject T2
(@) Yaskawa electric
— SGMSS T2 FoXF5No subject T2 Fox5No subject T2
o HC-RF T3 FeIFENo subj ‘

g ject T3 Fexd5No subject T3

Py == - -
< Mit_slﬁzﬁiﬁ\}v(lzft)ric HC-RFS 13 Jo¥d52No subject T3 Fo335:No subject 3
> HC-RP T3 FoXd5:No subject T3 FoXd5:No subject T3
6' ERUE AT () R88M-U T2 Fo335:No subject T2 Fe3FENo subject T2 Fe3FENo subject T2
E Omrom R88M-W T2 Fexd5No subject T2 Foxd5:No subject T2 Fox35:No subject T2
Z = 2
G) E:tEEﬁM}-ng;I%U(**) GYS T3 Fox$5No subject T2 Fo3F5:No subject T2 Fo3F5No subject T2
4 Fuiji electric systems
>
[v9)
—
m

B TH R DAt AR &S R IERM Standard Compatibility With The Follwing Motor Series

£ R =]l T
Motor Manufacturer Motor Series 1A Mator Power (W)
_E%_EE_UL(EE)_ HC-SFSX 500W, 1000W, 1500W, 2000W, 3500W
Mitsubishi wlectric HF-SP
SGMP
()22) ”Egm.' SGMPH 100W, 200W, 400W, 750W, 1500W
Yaskawa electric
SGMPS
VA—FEE‘%%F.\JMHE) MQMA 100W, 200W, 400W
Panasonic
ERUE (1K) R88M-WP 100W, 200W, 400W, 750W, 1500W
Omrom R7M-AP 100W, 200W, 400W, 750W
Ei@mm%%??&%ﬂ(ﬁk) GYC 100W, 200W, 400W
Fuji electric systems
RAHIR) BiS¢ 200W, 400W, 500W, 750W, 1200W

Fanuc

ENREHEETIRI AR , RETHSNDAEEEINTS. T2 DX, HERAEENINTR. E)EADIATIER (ERRTPHEXNEIX ) 5F
HEHES | HIRERAEEHER | AR OENSBSERDEABFRES , B, FEEIR.  EREIMEREEEENTE. SEFEE 155
INERATERR.

Note 1) If an oil-seal is not present and the size is different, attachment of the oil-seal may correspond to specia order, in some cases. Note 2) If the motor shaft is of D-cut and
taper type, it corresponds to a special order. Note 3) Note that thrust power arsing out of instantaneous max, output torque bu the combination of motor capactith (motor of the
motor series table) and reduction ratio may exceed permissible thrust power of the servo motor. Note 4) Out-of-standard may correspond to a special order in some cases, For
details, contact us.

b EIAMRAIRDIAT RO , AATRBENEER U MIRDIA R, RESNESTALE.

Our gearbox can match to servo motor of followings manufacturers,including aboves.Please ask us about the assembly.

FEREREBATLIER) BABF= RIAEEE ERES &t hER
FANUC POCKWELL 11=3 ZE) EHEHR

RN A% =8 B ERSE =ARER Hfih etc.



ETg
ASSEMBLY

B ZEDARISETE Assembly Procedure

BEFEITEEARDIAN , BRUTEWHTRE. ARDANRISHESR  REE-Rs  BLEDATRAEERERE= BN —E2EAE

ITESAHEERI DA,

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo motor is attached has different dimensions

based on the motor specified .Therefore,assembly may be impossible for some motor.Make sure the correct motor is specified before ordering the reducer.

1. ZEETE DX Spec. In Case Of Assembling A Motor Without Key

OITEZTEIRET |, BN | S ETIRE TS, FHRAEEEIEENRTT.
Take off the rubber cap, turn the input shaft, and match the head of the bolt to the hole of the rubber
cap. Make sure that the set bolt is loosened.

QB HENR L (ERRAZIEEIAREN ) . BROITEAELDIX
REHEN.

Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in without iam.) Be
careful not to be inserted with the motor tilted.

OBDIXEFERENL , FHRISEIHERIZITE. (BEX)

Attach the motor to the reducer and fasten the bolt with designated fastening torque. (See table 1)

OFREERFEIR | ISR N EERISTE. (85K
Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. (See table 2)

OFF EEFIZE], TEFIEER,

Puton a rubber cap. It is the end of assembling.

® X1 Tablel
LLikEE242 Motor Combination Bolt F 348 Fastening Torque
(N-m) (kgf-cm)

M3 1.0 10

M4 3.0 30

M5 5.8 60

M6 9.8 100

M8 19.6 200

M10 39.2 400

M12 68.6 700
M16 168 1650

® 382 Table2
[EE184#2 Combination Bolt F R 1BA8 Fastening Torque
(N-m) (kgf-cm)

M3 1.5 15

M4 35 )

M5 71 1

M6 12 120

M8 30 300

M10 60 612

HRIEXDANENTRE |, TR ERTR DA —HZE, THELSBH.

You can assemble the motor with keyway like above when take off the key. There is no risk of dislocation.

©® ZB/IZERFTEE
ZB/ZE Series Schematic Diagram

L

-

—L

-

ATaNISSY

P13



=
3R
ASSEMBLY
W REL B9 223 Peducer Assembly
BRIEN RS LAY, BEMARERHEELENSE | FRAERFSTEKIEENHERIZEEREE. (2%5%R3)

Jointing with reducerln case of jointing a reducer with the device, make sure that the combining side is plane without inconsistency, and when assemble reducer outo
equipment, ensuring assembly surface smooth and without burr. (See table 3)

® %3 Table 3
T Fastening Torque
TRIEMEELZ4E Reducer Combination Bolt frRIE g e

> (N-m) (kgf-cm)
n M5 5.80 60
(I_{_I) M6 9.80 100
= M8 19.6 200
53] M10 39.2 400
=
< M12 68.6 700

M16 16.8 1650

I 3546 Hi%h Connection To The Output Shaft

7ERZZEINA Cautions:

1. Rt EREIEAEE. BREN , BT LN KROHE T,

When assemble a coupling, pulley, etc. onto the output shaft,make sure that excessive axial
load not be given to the output shaft.

TBDERRDEEN | LA ERRS R AR R . B
In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer
may be damaged, therefore it shall be prohibited.
REABEBRFIIREBNE AN , TEESHIRERE | KEMBERD —
ET=M _\J

If the shaft or key of a coupling assembled is loosed, it may cause carbonization, so be careful u
when assembling. =
4, EBGREN | ARSI EEEE.

For assembling of a coupling, fix the key with a set bolt.

EEAE R DR,

Please adjust shaft centre carefully in connecting.

»
1
[

w
’

CTT T

(3]
;



FRARER A

ZD MOTOR

PLANETARY GEAR
BOX
CATALOGUE

FRAXEENHILSERAE

NINGBO ZHONGDA LEADER MACHINERY&EQUIPMENT CO.,LTD.
ok, T ERENRINEER R 81585

Add: NO 158 1st XinXing East Road,Zonghan Street.Cixi City,Zhejiang ,China

ERZEZES:

EE1E: 15957411112 15888042003
{EE.: 86-574-23456108

E-mail: zdldmotor@163.com

EZiFE, WiSnE:

www . zdldmotor.com

FRAREEEN, BASTENUEAEER~RAE.
The contents of the products will be subject to change without notice,
subject to the actual product after consultation.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14



